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1.  According to Marx ‘the Dictatorship i Ta case of conflict between the

of the proletariat’ signifies : :
Central and State law on a subject

(A) An autocratic state
in the Concurrent List :

(B) An ideal state

o (A) The law which was passed first
(C) A transitional state

(D) A liberal state prevalls

2. Gandhi described himself as a : (B) The law of State prevails

(A) Philosophical Anarchist ' . -
- (C) Both laws stand nullified

(B) Social Democrat .
‘ (D) The law of Centre prevails
(C) Liberal ‘

o 5. Who was known as ‘Iron Man of
(D) Socialist

o
3. Which one of the following does | India”

N . -, ? ¢ Al
belong under Indian Constitution ? (A) Jawahar Lal Nehru

(A) Preponderance of Executive
(B) Govind Vallabh Pant

(B) Popular Sovereignty

(C) Sardar Vallabhbhai Patel
(C) Judicial Supremacy '

(D) Parliamentary Sovereignty (D) Subhash Chandra Bose

TBC : AKG-AP(CC)POL.SC.—A 2
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Identify the correct order in which
Constitutional develbpment took

place :

(A) Magna Carta, US Constitution,
Bill of Rights, Act of Settlement

(B) Magna Carta, US Constitution,

Act of Settlement, Bill of Rights |

©)

~Act of US

Settlement,

Constitution

(D) Magna  Carta, Act of

Settlement, US Constitution,
Bill of Rights

Which of the following is not

the basic principle of Hans J.°

Morgenthau’s realism ?

(A) Politics is governed by
Universal moral values

(B) Politics is autonomous

(C) National interest is defined in.

terms of power

(D) Politics is rooted in the human

nature

TBC : AKG-AP(CC)POL.SC.—A

Magna Carta, Bill of Rights, -

e 10:

Parti‘cipation is an important

‘element of which. system ?

(A) Monarchial System

(B) Aristocratic System
(C) Democfatic System
(D) Oligarchical System

Who among the following is
the pioneer of the theory of

neo-realism 7.

(A) Barry Buzan

. (B) Kenneth Waltz

(C) _Raul Prebish
(D) Hans Morgenthau -

Who has described political system,

as the authoritative allocation of

values for a society ?

(A) David Apter
(B) Talcott Parsons
(C) S.M. Lipset

(D) David Easton
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11. Which among the follovving 13. Who is known as Father of Indian

Unrest ?
committees was appointed by the :

(A) Mahatma Gandhi
Government of India in 1986 ‘
' (B) Dadabhai Naoroji

to revitalize panchayati raj |

(C) G.K. Gokhale

institutions for democracy and -
' : ' (D) Bal Gangadhar: Tilak

o ia v S
SYelaPER 14.. Where is secretariat of SAARC

' (A) Balwant Rai Mehta Committee V,Svitu‘ated 7
e e | (A) New Delhi
(B) G.V.K. Rao Committee .

| ' (B) Islamabad

(C) Ashok Mehta Committee | o
‘ (C) Dacca

(D) LM. Singhvi Committee |~ () Rethmandu
12. Who describes fndian economy as 15. Which of the following -We‘"f’ the™

first two states in India which

“Bullock Cart Capitalism” ? . .
: established“Panchayati Raj in

(A) Granville Austin o 1956 ?
| ' , (A) Rajasthan and Odisha
(B) Lloyd and Sussane Rudolph

(B) Rajasthan and Punjab

(C) Rajni Kothari
(C) Rajasthan and Maharashtra

D) Atul Kohli - ' (D) Rajasthan and Andhra Pradesh
TBC : AKG-AP(CC)POL.SC.—A 6 X
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16. Man without society is either a beast
or a God, who said this ?

(A) Aristotle

(B) Plato

(C) Gandhi

(D) Henry Maine

17. Match items in List-I with items
in List-II by choosing the correct

code :

List-I List-1I

(Name of ' (Name of

Books) . Authors)
I.  Whatis to be N .Lenin

done 7 |

IT. Social Reform. 2. Mao Zedong
or Revolution -

III. On Contradiction 3. Rosa

Luxemburg

IV. Prison Notebooks 4. Gramsci

5. Marx
Codes : |
I I I IV
‘@ 1 3 2 4
® 2 1 5 4
© 1. 5 4 3
M 3 2 1 4

TBC : AKG-AP(CC)POL.SC.—A

18. Who wrote ‘Indian War of

19.

20.

Independence, 1857 ?

(A) S.N. Sen

(B) RC Majumdar
(C) V.D. Savarkar
(D) S.B. Chauqhary'

Gandhi’s Dandi March is associated

with which among the following

‘movements ?

(A) Civil Disobedience Movement

(B) Non-cooperation Movement

(C) Partition of Bengal

(D) Khilafat Movement

“The social contract theory has been

criticized as bad history, bad logic

‘and bad ethics,” who said it ?

(A) Henry Maine

(B) Ernest Bairker.
(C) F. Wilson

(D) H.J. Laski
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21.

22.

Who among the following is a social
activist campaigning against child

labour ?

(A) Baba Amte

(B) Shabana Azmi
(C) Swami Agnivesh
(D) Mira Nair

Which of the following countries is

not a member of SAARC ?
(A) Maldives

(B) Myanma?

(C) Sri Lanka

(D) Bhutan

TBC : AKG-AP(CC)POL.SC.—A

10

23.

24.

President of India can dissolve the

Lok Sabha on :

" (A) Recommendation of the Rajya

Sabha
(B) Advice of the Prime Minister

(C) Recommendation of Lok Sabha

@ Adyios of Hes Chiel Justive of

India

What do you understand by “Zero
Hour’ in the Indian Parliamentary

Procedure ?

(A) At the end of the question hour
and before the debate on other

agenda of the day

(B) Time just before the question

hour

(C) When any special privilege

motion is accepted

(D) First hour of the session
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25.

26.

27.

TBC : AKG-AP(CC)POL.SC.—A

Under which érticle the President

of India can issue; an Ordinance ?
(A) Article 123
(B) Article 124
(C) Article 125
(D) Article 126

Who demanded- ‘Complete freedom
from the British Empire’ from the

Congress Party platform in 1905 ?
(A) Feroz Shah Mehta

(B) Dadabhai Naoroji

(C) Gopal Krishna Gokhale

(D) Bal Gangadhar Tilak

‘Rule of Law’ is closely associated

with which Constitution ?
(A) 7 France

(B) Great Britain

(C) India

(D) America

12

28.

29.

30.

(A)

What is the Centre-State relation in

the unitary form of Government ?

Centre is omnipétent
. (B) Centre is weaker than the
State
(C) Both Centre and State have
equal powér |
(D) Both Centre and State are

supreme in their respective

domain

Who presides over the cabinet
meetings in the parliamentary form

of Government ?

(A) Cabinet Minister by turn
(B) Speaker

(C) Prime Minister

(D) President

In which csuntry do we have

Presidential form of Government ?
(A) America
(B) Canada
(C) Britain

(D) India
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31." Kangaroo motion is the system :

32.

- (A)

(B)

(C)

(D)

Franchise rights were given to the .

To move ahead by chopping

some amendments in any bill

due to paucity of time in the

British House of Commons

System of filibustering in the

Australian Parliament

To drop some amendments in

the American House of

Representatives

To regulate the debate in the

British House of Commons

women of the U.S.A. in :

(A)

(B)

©

(D)

19468

1931

1971

1920

TBC : AKG-AP(CC)POL.SC.—A

14

a3, -The custom of Gerrymandering is

related to :

(A) A practice of setting electoral

(B)

(®)

constituencies intended to take
political advantage by a

particular party

Begin by Elbridge Gerry—

" Governor of Massachusetts in

1810- and became populai' after

this
founding father was Patrick
Henry who designed Virginia of

foiling the election of James .

. Madison

(D)

All of the above.
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34. ‘King can do no wrong’ is a

- 35.

‘statement attributed to :

(A) King is literally above law and

cannot do wrong

(B) There is no remedy for king’s

actien through court

(C) King is eminently capable of
doing wrong, but cannot do so

lawfully
(D)- All of the above

Which among the following

American Presidents had to resign

over Watergate scandal ? |
(A) Eisenhowe;: |

(B) Kennedy

(&)} Nian v

(D) Roosevelt

TBC : AKG-AP(CC)POL.SC.—A

36.

37.

16

Who was the prinﬁe' supporter of
‘Partyless Democracy’ amongst the

following ?

(A) Jai Prakash Narayan

(B) Narendra Dev

(C) M.N. Roy

(D) M.K. Gandhi

In which year, the Governor General

of Bengal was made the Governor

" General of India and the country

was centralized ?

) 1813

(B) 1853

C) 1885

(D) 1833
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38. Under which Act police magistrates 40. Gadar Party was founded in
were empowered to arrest anyone

Cali.fo.rnia, U.S.A. by :
without a trial ?
(A) Aurobindo Ghose
(A) Regulating Act

| ' (B). Lala Hardayal
(B) Rowlatt Act

(C) 1935 Act ~ (C) Damodar Savarkar

(D) 1919 Act (D) Madan Lal Dhingra

'
39. Who was the author of the book 41. When did Jallianwala Bagh i

‘Poverty and Unbritish Rule in
_ Massacre take place ?

India’ ?
4 A (A) 11th April, 1919
(A) Bal Gangadhar Tilak

(B) 17th April, 1919
(B) Gopal Krishna Gokhale

| 8th April, 1919
(C) Surendra Nath Bannerjea , (©) pri

(D) Dadabhai Naoroji (D) 13th April, 1919

TBC : AKG-AP(CC)POL.SC.—A 18
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42. “Directive Principles of State Policy

are a cheque whose payment

depends on the convenience of the

bank.” Who made fhié observation ?
(A) Dr. Rajendra Prasad

B) Pt J#awaharlal Nehru |

(C) Prof. K.T. Shah

(D) Dr. B.R. Ambedkar

43. Any -Constitutional Amendment in

India can be moved in which House |

- of the Parliament ?

. (A) In any of the two Houses of the .

Parliament

(B) Joint seééion.of both the

Houses
(C) Lok Sabha

(D) Rajya Sabha

TBC : AKG-AP(CC)POL.SC.—A
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44. Electoral college constituted for thé

election of the President of India

consists of :

- (A) Members of both the Houses of

the Parliament and elected

members of the State

V Legislative Assembly

(B) All the members of the

Parliament and State

Legislative Assembly .

(C) Elected members of both the
H'ou'ses--..ﬂf Parliament and
}elected members  of State

: Legislativé Assembly

(D) Elected members of the

Parliament
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45. Who amongst the following had lost

46.

the presidential election once before

being elected to the post of the

President of India ?

(A) V.V. Giri

(B) Fakhruddin Ali Ahmad

(C) Zakir Hussain

(D) ﬁéelam Sanje‘eva Reddy

The 44th Amendment Act, 1978

replaced which term by ‘Armed

Rebellion’ in Article 352 of the

Indian Constitutién ?
(A) Vioient movement
(B) Internal disturbance
(C) Copspiracy

(D) Failure of the Constitution

TBC : AKG-AP(CC)POL.SC.—A

47.

- 48. -

22

D)

Under what specific conditions can
an ordinance be issued By the
President ?' ,

(A) | During the Lok Sabha not being

in session

(B) During the Parliament not

being in session

(C)

During financial emergency
During emergency

Judicial Review implies :

(A) Right to declare laws, ‘thrat

- contravene the Constitution, as

null and void

(B) Right to. 'revie}w Judicial
Administration |

(C) Right of the Courts to explain
| laws

(D) Right of the Courts t\o make

laws

i
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44§ Heed, 1978 & stfufed 7 wRd™
dfaum & aﬁr—@a 352 & o9 I &
T W e R W S 2
(A) feameTs sTRIeHA

(B) mﬁmmﬁ

(C) w=gg=

(D) gaurtaes ﬁmm
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47. Tegufa forg fad feufa # steatw s

H GHAT T ?

(A) i O & sfEEeE d 9 WA
=t feufa #

(B) Wog & Ift@ym # I WA H
 fefq @

(C) fadig sl feafa &

(D) e feafa

48. o gEH w1 ad ¥

(A) 37 Afufel =1 ody wiftm &3
o1 fusER, S wfaum & wEyE
& whrwe @

(B) = TRIEA & TRE@EwT &
a1 s

(©) meﬁm’m‘
£l R |

(D) mmwaﬂﬁwaﬁq%ﬂ

P.T.O.



49.

50.

Who was the only woman to be
elected as the Chairperson of

W()ll;ld Hgalth Organization /4
(A) Kiran Bedi

(B) M.S. Subbalakshmi

(C) Raj Kuméri Amrit Kaur
(D) Vijaya Lakshmi Pandit

When was International Labour

Orgahizaﬁion set up ?
(A) 1919
(B) 1942
(C) 1943

(D) 1945

TBC : AKG-AP(CC)POL.SC.—A
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51.

52.

. (B) Nasser

Who among the following is no

a propounder of Non-aligned

‘movement ?

(A) Tito

(C) Nehru
(D) Chou En-Lai

Kofi Annan received the Nobel Prize_f
for peace in the year 2001 for his

efforts in :

(A) Child ‘i)'evelopment

(B) Poverty Alleviation

© Eradicatibn' of Terrorism

(D) Human Rights




49, T TS FER el wfen 3, | 51 TR er @ sl # secreri

ﬁwwﬁmﬁawa@%? T A SR

(A) feE <t Ay &
e (B) TR
(B) TH.UH. Yesrarssdt
- (C).?@R
(C) TSTHARY oTgd &R

(D) =% TA-TME
(D) fasasst dfeq - _

52. nemﬁaﬁﬁwaﬁaﬁzomm

50.. STUSHE oW FSH HI TITA wHe- -

% fou wem fear w2
@ 1910 PR——
(B) 1942 - m —_—— |
- (©) 1943 - (©) sEER

(D) 1945 | . (D) HHETEHRR

TBC : AKG-AP(CC)POL.SC.—A 25 . | P.T.O.



53.

54.

Which one of the following is not an
official language of the United

Nations Organization ?
(A) German
B) Chinerse
(C) Spanish
(D) French

Agenda 21 is related to :

(A) Earth Summit

(B) Ministerial Conference of WTO

(C) UNCTAD Conference

.(D) World Summit on Human

Rights

' TBC : AKG-AP(CC)POL.SC.—A
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55.

56.

The resﬁrgence. of Asia and Africa
in the post-Second World War
period was best manifest in which

éonference 4

(A) Adis Ababa Conférence
(B) Lagos Conference

(C) Ankara Conference

(D) Bandung Conferénce

What was the primary context of
the setting up of the Non-aligned

Movement ?
(A) Panchsheel

(B) Rise of Asia

" (C) Cold War .

(D) Detente



54.

TBC : AKG-AP(CC)POL.SC.—A

- 53. Ty=fafea § 9 wFd oo g T

Ty w1 erfusd W AE § 7

(A) s

® S

(C) wfw

D) %=

W-—ﬂ e gafea § 2

(A) gt freR TeeE

(B)ﬁwwﬁnaq%nﬁwﬂ'q

pet=s ot
(C) IS THH

'(D) mqaﬁém’rﬁmﬁvamm

27

55.

56.

ﬁamﬁmﬁwg@aﬁm
qmaﬂxmﬁmﬁwaﬁw'
(A) wﬁ‘ammwﬁmﬁ

(B)wﬁawﬁa——iﬁ,

(®) ‘d-ichl'{l qieE o
(D) wvET Feier
Tefue ST @l Tof wY AT

mug@#zﬁw?

(A) dE=Eiter

(B) TR %1 Schd
(C) ¥T-3&

(D) T Sferex

P.T.O.



57.

58.

Which organization replaced

GATT ?
(A) SAARC

(B) UNCTAD

~ (C) World Trade Organization

D) G-7
When any official do not perform his

duty, High Court/Supreme Court

can issue Which writ ?
(A) Habeas Corpus
(B) Prohibitien

(C) Mandamus

(D) Quo Warranto

TBC : AKG-AP(CC)POL.SC.—A

28

59. What is the name of Iranian

Parliament ?

(A) ‘Majlis

(B) Congress
 (C) Bundestag

(D) Yuan

60. What does ‘democratization of UN’

stand for ?

(A) Democratizing General

Assembly v
B) Dembcrgﬁiéing Security Council ‘
(C) Democratizing Ecqﬁomic &
Social Council

(D) Democratizing all Organs of

the UN




57.

58.

‘T’ W W e fEe WmeT %o«
fam & 2 |

(A) 9&

(B) 3Thars

(C) fova =R HreA

(D) -7

afs F s s Fer Pl

TE R € q S©9 EeE/Sdis
AT T S SR g )
A) == waﬂmm

(B) wfasiy

(C) TR

(D) AFR T=

TBC : AKG-AP(CC)POL.SC.—A

59.

60.

ﬁhaﬁﬁmwww%?
&) wfr

(B) =¥

© men

(D) gamH

g T & YIOEI-H 4 &

Py ® 2

(A) HBHM 1 TSR0
(B) Y& uRsg w1 YSIar-1hio

(C) sufefew = mtrrf‘sm qftsrg. &1
EEISIEER

(D) §aF UT F g s
ST

P.T.O.



61.

62.

Who gave the concept of Iron Law

~of Oligarchy ?

(A) Robert Mitchel

(B) Vilfred Pareto

(C) Karl Deutsch

(D) Coleman

“Anarchy, State and Utdpia?’ was

written by :

(A) Rawls

. (B) R. Nozick

(C) Taylor

(D) Bary

TBC : AKG-AP(CC)POL.SC.—A

30

63. Name the scholar who first used the

term ldeology in his work “Elements

of Ideology” ?

(A) Destutt de Tracy |
(B) Denial Bell

(C) S.P. Huntington

(D) John Rawls

64. Who is the author of the book ‘End

of History and -the Last Man’ ?
(A) Francis Fukuyama

(B) S.P. Huntingtqn

(C) R. Nozick

(D) Henry Maine



61. ‘U ® Wi Frm’ w1 swemoen 63.3@%%1%@%&%

qew ‘ueltie s mEtEdEe’ A

fog fagm 7 < ?
99y R ‘ EfEdalsit’ st STaYRun
(A) R fagie g B 2
®) s W &) Zwee <
(B) =f1aa s«
(C) &1l B o
(C) Taqr. gfded
(D) hIHA
. (D) S° T

62. 'S, We w g R el 7 | oy i st feedt 0 @ e A
‘ TE B NEE BH E 2
(A) ™ ' §

(A) WifaE FEaAm
(B) 3R. wifser |

(B) wa.4l. sfereq
(C) W -

(C) 3R =hﬁ'f$
O a|F{ | . (D) ¥ &

TBC : AKG-AP(CC)POL.SC.—A 31 | - P.T.O.



65 One of the following is a

66.

commuﬁitarian thinkevr :
(A) Hayck_ |

(B) .Walz.er

(C) Friedman

D) Dworkin

One of the following constitute

Rcst-modem team :

(A) Heidégger vahd Lyotard
(B) ‘Lyotard and ‘Easton
tC) East,o.ﬁ -an.d Betlin

(D) Berlin and Plamenatz

TBC : AKG-AP(CC)POL.SC.—A

67. The idea of the contract was

68.

refined in :

" (A) Lenin’s—State and Revolution

(B) "Rawls’—'I:‘heot'y of Justice

© Gree.n’s'——~Le,cture‘s’ on the
Principles of Political Obligation

(D) Hannah Arendt’s—The Oﬁg'ins

of Totalitariahism

'Which of the following five major

powers are recognized as Nuclear

- Power ?

(4) Arsaribs, Citnz, Franis, Riissls,

" Britain

(B) . America, Chlna, Germany,
Russia, Britain

(C) America, China, Canada,

Russia, Britain

(D) America, China, Australia,

. Russia, Britain



65. 1= ¥ | il famms wib § 2
A) TF
®) R
‘(C)uﬁgﬁ;{

(D) TaArRfEA

- 66. f=1Hd Ww—wgﬁwarﬁvﬁ EQ|

SEr § 2

(A) BSR T T
B) e @
(C) 3= w dfeid

V(D)Hﬁ?qa"@ﬁ'—]m

TBC : AKG-AP(CC)POL.SC.—A

33

67. TR B foram W g R

| es.

R 2

(A) dfF—w=e Tg ﬁai—(:qgrq
(B) Ted—eAl ait® aﬁza
(C) Hi—d it @1 flifaved st
(D) 1=t Qi’z—‘rﬁ smfifs—w afw

Zrfafaftn

fr # A e Wt wf Y

Wéﬂaﬁmﬁmm_\%‘?
(A) sl <, Wi, e, e
(B) s, =, soHf, w9, faea
(C) ™R, =1, HAEl, &4, ﬁﬁq

(D) @, 9, a@m Y, ﬁ@?

- P.T.O.



69. When was United Nations formed ?

70.

71.

(A) 24 October, 1942
(B) 1 January, 1946
(C) 24 October, 19457
(D) 1 January, 1947

Which policy is major feature of

India's foreign policy ?

(A) Isolationism

(B) Non-alignment

(C) Iron curtain

- (D) Military Alliance

Farakka .issue is related to

whom ?

(A) India—China

(B) India—Sri Lanka
(C) India—Bangladesh

(D) India—Bhutan

TBC : AKG-AP(CC)POL.SC.—A
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72.

73.

Which philosopher fixed 5040 as

population of Ideal state ?

(A) Plato
(B) Aristotle

- (C) Socrates

(D) Polinius
Who is author .of ‘Leviathan’ ?

(A) Hobbes

~ (B) Locke

| ~(C) Machiavelli

74.

(D) Rousseau

Who .is considered as pioneer of

utilitarianism ? ..
(A) Hegel

(B) Bentham

(C) Mill

(D) Green



69. TIET U we ifeded F oA 7 '72.1%mmfﬁraﬁi‘rmrreqaﬂ'mw~

5040 ff¥=@ w1 ot ?
(A) 24 RST, 1942 .

(A) =2
(B) 1 SHad, 1946 _
P ' (B) I
(C) 24 3RS, 1945
- (C) gFm@ -
o 1 SHEd, 1947

(D) uifefrE
70. HAE HAifq wRa =) faew Aifq = @ . |
73. ‘wfamem’ @ d@E FH & 2

aGT ¥ 2 |
(A) = -
(A) GUFRII
. (B) il
(B) TefrRusmE |
(C) Bfraree
(C) &g smeor |
| (D) &5

(D) ¥ TTesE | -
| . 74. SUHINTETE W1 Yadw fewesl w@EL

71. TR w1 Heol fEed wEifyd § 2

ST ' 2
(A) wa—= T R (A) et
(B) R — it | | -(B) S
kC) IRA—ATARY (C) fa=
(D) MRA— 2 | | D) =

~ TBC : AKG-AP(CC)POL.SC.—A 35 - P.T.0."



75.

76.

¥1.

Who gave the theory of ‘Separation

of Power’ ?

(A) Montesquieu
(B) Kant

(C) Hegel

(D) Bentham

With which of the following weekly

Gandhi was associated ?
(A) Young India

(B) Harijan

(©) Navajiwanl

(D) All of the above

‘Spoilage system’ is prevalent in

which country ?
(A) America
(B) Sri Lanka
(C) India

- (D) Ghana

TBC : AKG-AP(CC)POL.SC.—A

36

78.

9.

80.

What is Green peace ?
(A) Political Party

(B) ‘Pressure Group
(C) Lobby

(D) Nationality

Medha Patkar is associated with-

which movement ?

(A) Tehri Dam

(B) Narmada Bachao
(C) Feminist Movement
(D) Student Movement

In the 73rd constitutional
amendment 1/3 seats for the women
are reserved in Panchayats under

which article ?. .-
(A) Article 243A

(B) Article 243B

- (C) Article 243C

(D) Article 243D



—e

75.

Frer 3 @ W B e 1

e 2

 78.

77.

(A) wiRwg

(B‘) 1<

(C) B .

(D) S|

mﬁu’?wﬁﬁﬁﬁmmﬂm |

uﬁ@;ﬁum ?

.(A)iiﬂéf@?n'

(B) =R

(C) it

(D)wéaamﬁg.

o el e B BB 3
(A) TERET |

(B) siteiht

(©) v

(D) =

TBC : AKG-AP(CC)POL.SC.—A
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78. uﬁ-—ﬁm’ﬁaﬂwwamﬁ% ?

79.

80.

(A) USiHfaeE <A

(B) 51 WE

(C) wret

(D) T

Al T 9 ReH ¥ §Es § 7

" (A) ded sty

(B) a1 el

(C) TEE T<IaH

(D) B ST=<IeA

733'.3'1%[% defed # dumE d
Tff%’ﬂTaﬁ & 1/3 z:ﬁa & SR i
creen fora seRe ® ewEld
¥ 2

(A) TR 243A

(B) 31T=s" 243B
(C) =K 243C
(D) =% 243D

P.T.O:



81. Which Raja of B'ushahrbprincely

state was given the title of |

Chhatarpati by Aurangzeb, ?
(A) Kehri Singh

(B) Chattar Singh

(C) Ugar Singh

(D) Mahinder Singh

82. Which Was the last battle fought |
84.

between the British and the Sikh
Iéjngdom 2

(A) Battle éf Aliwal

(B) Battle of Mudki

(C) Battle of Ferozpuf ‘

(D) Battle of Sabraon

TBC : AKG-AP(CC)POL.SC.—A

38

83.

Given below are the names of some

lakes and the districts of their

location ? Find the mism_atch ?

(A) Kumarwah — Mandi
(B) Ghadasaru — Chanﬂoa
(©) Karali _'—»shimla |

(D) -Mahakali — Kullu

At which place in Chamba district

is Shakti Devi temple ?
(A) Bharmaur .

(B) Chhatrari

(&) Manifnahesh

(D) Saho



81, U fored B g T @ oo | 83 A9 % wiell ® AW ¥ ok ot forelt

H gleu :
(A)@%ﬁﬁig ,

(A) HHAREE—HUL!
(B) = &g

(B) wgEE—HE
(C) ¥R oz

| ©) m——ﬁm

(D) =fez foz -

(D) HerehTed— e

82. siisll ok fam W & e onfedt '-
| : | - 84. vIfF St wfey wvan et #f forg Wl

wer e S 2 k2
(A) ST w | I
(B) TS Wi B) T
(C) TRUSTqL =t - () HfHgw
(D) G P (D) e

' TBC : AKG-AP(CC)POL.SC—A 39 P.T.O.



85. In which month is Cherwal festival

86.

celebrated ?
(A) Sawan
B) Asad
(C) Bhadon
(D) Asauj

In which district is Gamgul

Siahbebi sanctuary' ?
(A) Chamba

(B) Sirmaur

©) Kullp

(D) Una

- TBC : AKG-AP(CC)POL.SC.—A

40

87. At the time of merger of hilly areas

of Punjab with Himachal on Nov.
01, 1966, approximately what
percentage of emplo&ees of Punjab
Wére transferred to H.P. 7

(A) 5 percent

(B) 8 percent

- (C) 12 percent

(D) 15 percent

88. Which one of fhe,folldwing towns is

not covered under the Swachh

Bharat Mission (Urban) for

installation of underground waste-

bins on pildt bagis -
(A) Dharamsala

(B) Sundernagar(
(C) Hamirpur

(D) Paonta Sahib



85. Wﬁ%ﬂmﬂﬁﬁﬁmm

. 86.

%2

(A) ZmET

(B) Aremig

(C) &t

(D) TN

e feesd YRUReE e fordl
® 72

(A) =

(B) fawiR

(C) =]

D) ¥ |

TBC : AKG-AP(CC)POL.SC.—A

41

88.

87, UH TARR 1966 1 TS B TErSt &S

| ED femrera T fae™ & Tug o foman

yfaga ooe & wHEr feamEe yew

= ARG RS ™7

(A) 5 wfqem

(B) 8 ufaera =

(C) 12 wfqed

(D) 15 wfav@
frefafod § ¥ Far =T @5 9RG

ﬁm(v@)sﬁmwéfﬁi

R R W@Eﬁmﬁ%m

(A) wHwITT

(B) W

(C) &HRYE

(D) e aifes

P.T.O.



'89.

90.

| Students of which classes in H.P.

Govt Schools are being provide;‘d
tW(; sets of uniformg 'u,n'c_ier Mahatma
Gandhi‘ Vardi Yo:ina ‘7

(B) T to VIII'

) ItoX
D) T to 1042

Which one of the following hydro- -

electric power project in H.P. is at

present under investigation stage ?

- (A) Shongtong Karcham

(B) Nakthan

(C) Sawra-Kuddu

(D) Sainj

TBC : AKG-AP(CC)POL.SC.—A

92.

42

- 91 In the ﬁve—judge Supreme Court of

India bench how many judges

ruled that Tripple Talaq is not

" unconstitutional ?

" (A) One

‘(B)r Two.

(C) Three

,(-D) Four

After Whlch nationalist leader is

Farrukhabad’s hospital, where

. nearly 49 'child.ren_ died within a

month, named ? ..~
(A) V.P. Singh

(B) Vijay Bahadur Singh

(C) Kanshi Ram

(D) Ram Manohar Lohiar



89. WyIeHT TieR Tl ST —q% =aTa

90.

few. % W el R wensl @

foenfaiat = < 92 o<t ufqed Suasy

'Wrém@‘%?

@) 12 Ve

(B) I ¥ VIt

(C) 1§ Xdt |

(D) I 9 10+28

fem. & Frefafe # & F srfrEm

i safim ©S W R ?

(A) TR FTow

(B) 9
(C) m—agg\

) F

TBC : AKG-AP(CC)POL.SC.—A
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91.

92.

YA I=Ud9 IEAEd Fl G9-HeEt
$o B ok cannibit ¥ 0P v o

Iy & " ?

(A

B) q

(C) T

(D) IR
HHEEE h1 IEqAIA Sal THh Ha M
F T 49 wedl ¥ U9 A T Y

qegarel & M W ¥ 2

@A) @ fw
(B) m@m
() Fifem

(D) T e lfedn

P.T.O.



93. What is the theme of exhibitions | 95. Who is Vice-Chairman of NITI

and seminars being held to mark 75 Ayog ?

years of Quit India Movement ?
(A) Rajiv Kumar

(A) Milestones of frendon , |
(B) Rajiv Mehrishi
(B) Sankalp Se Siddhi A
(C) Kiran Kumar
(C) Pragati Ki Rahapar
(D) Kaushik Basu-
(D) Atulya Bharat | '

- , : 96. What is the approximate number of
-.94. With which of the following is

3 women Defence Ministers in the
-Shekatkar Committee dealing ? ‘

‘ | world, és of now (Sept. 2017) ‘7
(A) Defence reforms ‘

: (A) 06
(B) Urban housing
(B) 10
(C) Maintenance of religious
institutions o : (C) 16
(D) Revision of school textbooks D) 19

TBC : AKG-AP(CC)POL.SC.—A 44



93. YA WSl =IeH & 75 99 . B &

94.

YA H w9 9l wesitEr el
ﬁ%ﬂ-ﬁ%ﬁmwﬁw%?

(A) WA=l & Hid TR

(B) H#ey 9 fagr

©) mm—w_

(D) 3qed R

drw A e & @ frd
TEfea 7 2

(A).I&ﬂ %wﬁg‘%m

(B) w&d mE™

() w=fiiem d@aﬁmr@x—w

(D) THe AISAYEIhi T GG

TBC : AKG-AP(CC)POL.SC.—A

45

96.

95. ifd WM & AN wH § 2

(A) TSE HAR

(B) T HEdw

(C) TorTo HER

(D) FfeF =g

T §ug (faam=r 2017) fava | =fgen

187 wi= gl &1 9eE oy fea
g 27
(A) 06

(B). 10

(O 16

D) 19

P.T.O.



97. Which is the tallest building in the

98.

world ?

‘(A) One World Trade Ceritre, New

York

7 (B) Shanghai Tower, Shanghai

(C) Burj Khalifa, Dubai

(D) Lote World Tower

Which of the following countries is

not a member of world forum for

economic cooperation called G-20 ?
(A) Turkey

(B) South Africa

(C) Saudi Arabia

(D) UAE.

TBC : AKG-AP(CC)POL.SC.—A

46

- 99. Who is Jacob Zuma g

(A) President of Egypt

(B) President of Ghana

| (C) President of Kenya

100.

(D) President of South Africa

Which country carried out Hydrogen

bomb explosion around September

03, 2017 ?

(A) North Korea.
(B) So_uth Korea
(C) China

D) Vietham



97. fova & W@ <+ TARa wRH ¥ 2 | 99. SFw ww IW ¥ 2

(A) o1 98 I8 FW, =@ (A)fq'a?%m
'(B) IEE A, S | (B)fam;%rrgqﬁf
(©€) g5 TelH, g | " () F & TRfa
D@ | o e st % Ty

98. emfife wedT & foIw s T fova HE | 100, 9 fwmR 2017 B oTEUE fea W
Sf-20 w1 frafafaa & @ w9 2w A BEIISA W W TN (gHET)

W A % ? | fEm ?

(A) T | . | A w*r 'cﬁﬁan
| ®) ar&m STRTEHT ] " ‘(B)’afa‘m Eate

(C) m IH | (C) =i

D) FTEeE 3/ IHRE (FWE) | (D) fazmrq

TBC : AKG-AP(CC)POL.SC.—A 47 ' " PTO.



